2“'\3 Ie)

G =ML = T + mad = ij(%?-slmﬁj
/

=2Zma G{E'Cas 15'9

= a= gtanls® = 0,289

3@1"
\o®
T'.'P?inj fl,'t Tront uheel Nﬂj FB':?G
2 EM&: nad ’mj (25 Cos 10° - 36 sinln")
= ma (35)

Solie T obtam A= 05104 (1643 ftfeed)




Ne (2.4)-0.8Ng (0.4)-16.19(0" 1270

Ng = 9.34(10°) N ov Ng=1.34 kN

ZFy=o: Np ¢ 1.34(10%) - 16,18 (10¥) = o
Ng = 6.85(03)N or  Np =6.85 kN
6/13 ma M, = mad
. | 0.25 -
e -mn. _, | . 2 =
n. , . 2 +2.25(2) 3&2&2)6”3)
¢ J/Tl a = 1932 sirjse”
A 0,25 15 B=0  or as /& fHfsct

@17 [

250 mm

V= 1.2 +09+% m]s

a = 1:11: [.3t 'rnur'-.}sL

ma ';DE:MQ - mm&.:
-

400 |G -~ 250 _ 440
mm lmj my 52 = m(138) ()
=1 t=3.4) s

"



2 6 X 2
6/20| V2= zas, E:; _ (0/361=4'63m/52

2(30)
9.8/) N
?aor /) M= mad,;

. _H..-.Gt____;. w !.2,4_}, = 900 (463)(0.9-0.5)
T 3 odm | A AT
-~ [ Z2m

m (@) For na tendency

P mq '1'051{(3} £ =o.

From dia m-m

(+8 1/‘,__
tand = mﬁ = 3
o = tan ar
(%—i Mo, ’ﬂ‘/’r
I:J) _t:: +4 = —1’?"-— =
( “q..l(i jr.-t ) _ 8 -tﬂﬁlﬁﬁ-'tﬂﬂs
Yy =9 qn((s+e)} Jultunptuns
Shpa "Flf!':t '|‘F j_{_ b/ E:. M= -tCln_ P
2 _ 4+ 'tuna
Se o Vo= 3" fi—_p.t&ne

Tipe it i p> 2= =2
% + tan®
I- %‘tﬁnﬁ

v = qr




63'}'\ ljaaz ’Z/ = L7 :i = rad
/ I ;f 0. 'E)\' ‘:{') A- O'g 6'6?5

—
w,f/f : : z ) a= 0 ) &ﬁ-al %:p
L= V4 AN0Im G = Gy s rat
i I- O,r p 2
4”‘.{5 \ | —- 0.6 m =G,4@,6?J=!Z?c?
~ Y52

- &
- ma =20(/7,78)= 356 N
M, =mAd; /88, + 2(781)(1.0) = 356 cos 30°(1.0)
.«Sy =62./ N

['ﬁ:m‘?x J‘ ‘Sx = 35651 30°= 1778 N

5=}‘szf@2 X B=V(177.8)+ (62.1)% = 188.3 N/

6/33 I ZM = I o

20(9.81)0.8) = j’-f’za){f. 6) %«

! K= G20 rad/s?

R 1 @ &8m G O 8 m
© 1

0 E'f/ #
20(5.81) N Ji:m% =mra
;:_ 20(4.8/) -R = 20(0:8)(4. 20)

;E=4'?.an.r




3 m
Lapg = r:z_mb +2]:|g_mh -'rrn((lb ’—“-1)

ﬁ/ail Lo = 2(3%.5 )+ b C 2 2k {m= mass
)]

-+ [i‘imh"‘-rnh] = %mb

12 ZMﬂ_ﬁ =Topot s

=
2 = 3wk

-4~mj %_

31z g
A= "5 b

(@) Pin in place ; Zid = Lo
30 = 43 (4[0.2]"# [0.25]%)

M
] oL = fa45 W/;!
o
() Pin removed 0
F M Arm . F":M/r-——‘fi‘ﬂhf
¢
F:‘l‘ ":n ;EQJ‘D!".' Iﬁ_ m‘?t
ﬁ__r.-[F "';3,’ 120 =43 (0.254)

of = 11./6 redfs?

of ©ach sid<



6/4-7 | IMy=L [ 8(7.81)(0.450 cos 30°) =120 900)%x

o= /416 rad)s*?
Zﬁ;:f‘?’?f*o(; £(%.8/)cos 30°- A,

= £(0.450)(14./6)

*7 ,4&= /6.92 N

_ . &
Iﬁ'rmrﬁ)) A —8(9.8/)5/m 30
w=8=2 rad/s = §(0.450) 2%

/o 8es) N

n f?nsz)mg.ﬁxhﬁ = f,?ZZranr}vﬁ

=, . - 4r & g
Z-"f mrol pgcos ’E rﬂﬂ? jﬂrca;sﬁ

(!- ?nz)mgr:asa T 0.6490mqcos8




6 (76 - , i,
St ] s =g, (1ox)pgr = 2(enpris
a=9/2 consrtanl

(/83 [

25(1.81) N

ZFy=0 = N=25(38)= 245 N
ZFy= may 1 30-F = 25a (1)

ZMg = Tot : 30(0.015)- F (0.2) =25 (0.175) %« ()

A ssumi ru\"\{nj H\‘hx Nno S’I':P: G=-r+« (3)

Sslutin of  Egs. 0)-®) [ a=0.425 m)s*
R = -2 vad[s?
F= 1938 N

Fraae= pgN= 0.1 (245) = 245N >F (assumption 0@_



6/5” jﬂnﬁ'ﬂﬂwﬁﬁj 7,4, o. Aonients aboulr C
@/iminares fwo of them.

R mg M =Tot + mEd
2 / 2
‘:\ -E/E G £/2 M?-f cos “30° = ﬁﬂ?df o
- * I
‘\.\ e -

2
f’iﬁf +mEu (—égm:zm‘j
v ma, e /&
C ‘l‘"g = 97
m =o¢ /3L
y V3
M, = Tol g ©o L ot 13.2) 2v3
6 %) Tgesdo=mmb(qn) T=5m

a,= 2 cos q0°

%=£2& sindo

meq =If5f'?.&f)=f4?,2 AS ~

]
% S mé’x: /501 2c)0540°=13.7Fct N
", mé'y:fj'(f,zd}Jin«'#a': /1. 57 N
A I '-I—'z (rE}r‘?.#)E_f - 720t M-m

f}bﬁé=fo~i +Zmdad

147.2(1.2 5/n 40°) - 0.3B(2.4 5/n 40°)
= 726 + 13,7900 (1.2 cos 40°) +11.57 (1.2 5in 40")
Simplify f ot=3.94-00/6078 ---(1)

Zermé;; B= /3,79 - - < - - - - o (z)
Sosve (1) § 2) & gt (=3.23 rad/s?
Q= 240 co540°=2.4(3.23 )cos40° = 5.93 m/s*



6/“5!

F2.2 6 &=rton ' ) Sin®&=0.0995

U =4ar

V=322 (0.0995)i0)
= 32.049 Ft-/b

7‘—’»»&?’4".2'&) -0
S\ Yy \* 29
=) - = £1
2 2!:2) © gy

v 8839, U= 297 fffsec

6[I19]| Ay = ~zoor9.8/)(1.25) = - 2953 v

Lach J,c:rx Hj

THrerebcs a aistewce ©F L25 m

Jo that AG=2[Lk(r25)-0]= 1563k U

47 = —E_Z;w=izaa ?E 5 +f.z.§',}f.5:46?J

Z

A7 +AY + AL =0’ 467 -2953 +/. 567k =0

/133
U' =o
AT =
ANy =
AVe =
Thus

k= 1270 NS or k=/270 kA m

U'= AT+ gvj + AVe For erdive System

T3, (52)7](.5)=0.323 n

A T _ L
ZzXLow = 2| 3 3272

—Wh = - 18 () = —8.33 Ft-n
2 (Eka*) = k(3 ) = 0 02k

0= 0.323 - .33+ 0 027 Kk
k= R8% |b/ft or K= 24.0 1%/,




6| ., H [EFdt= 06

ZmuLfaaMJ (360- 35x9.21)5 = 35 (v-[-2])

U= 0.379 M wp
rad (300 o,
? 5 A st e = 0,
‘A ‘
¢ N (200-/60)0.3(5) = 15(0.25) (w-[-8])
I _
2 mjs w = §56.0 rad/s cu
20(9.81) M
6[176

O (Sun cester) %
T A= 1496 (10%) m §Iw

H= Tw-= %mri C?tw )

- =2 2% “\ ==

= S5m0 M) (6.3 10 ) e ey
7.08 (1033) Ky m'/s

[& . -1)(333,000)(5.976-102
5 = ms :\/ 6.673 (107")(333,000)( )

| 49,6 Qo)

29 8Oy wmg

wid = 5376 (102Y) (29 808) ([49.4 +10°)
= 2466167 k- m?[s

= Tw+m™id = 2.6 (104ﬂ) ka-ml
The T term IS
e MUVd term,

insijniﬁmn‘t Compared wl&)



6“34' Hprruﬂm“{ the diver's bu*l\»j oy O
vniforen Slendor bow " e first Cage  and

0as O aphtre, (O N3 IRcond Qase, CDHSErfaﬁM

of anﬂular Momentum H, = Hz*.
.
m_w;{ﬂf Ny = Z mir “Ne

2 ()" (03)= Z(538)* N,

1
= FB dt = T’r\(ﬂj-UHu) =0=> Nfrhjtuﬁ.ﬂ

t
fa ZF bt = m(U- )
(_kaj tase-\-maiiﬂe)'t = m('u-Uu) ()

LiEMgat = T (w-wd)

(}‘lkrnj csO r )t= %—m\’lm (2)

V=ruw (3)

Selution of £gs. (1)-(3) :( £ = 3(';: umsa-Zsina)
k

61.1::',{_“,_

T}Ak“z’taﬁlﬂ

We desire the time t  Whip

Far s\ ;pp‘\ﬁj o QEAS‘QJ ' V=
Tp tos & = 23w
w = 5v
or M 7~ %’t&n'& Miefv
'Tﬂk'- Z-‘tﬂnﬁ




6/205] Process T~ roll bt Fived point A

— N |h=0.007 U2 = 4T
/ m

( ‘G.-" |"1:'5 _.mjh: + (%mr1)(mfz—0
\ ;—_T u}’-w,/ﬂi‘_ - \/+(ﬁ_3i)(o.ﬂ£r
N "V o3 3(0.038)%

= %.65 \"'1&/5
trocess T - ".rnfpuc‘t' ot & |

Y AH, =0 my(-h)= Taw'
= %mrz)w"
“‘ With v =050 :
e I

FoL o) =2

_ 37t 3(0.035)7(865) ad
Q.= r-h 0.035- 4.047 1135 5




